
Unit 4.1-4.2 Notes    Using Trigonometric Identities 
 

Reciprocal Identities 
 

#1 sin 𝜃 =
1

csc 𝜃
    #2 cos 𝜃 =

1

sec 𝜃
  #3 tan 𝜃 =

1

cot 𝜃
 

 
 

#4 csc 𝜃 =
1

sin 𝜃
    #5 sec 𝜃 =

1

cos 𝜃
  #6 cot 𝜃 =

1

tan 𝜃
 

 
 
Quotient Identities 
 

#7 tan 𝜃 =
sin 𝜃

cos 𝜃
   #8 cot 𝜃 =

cos 𝜃

sin 𝜃
 

 
 
Pythagorean Identities 
 
#9a 𝑠𝑖𝑛2 𝜃 + 𝑐𝑜𝑠2𝜃 = 1   
#9b 𝑠𝑖𝑛2 𝜃 = 1 − 𝑐𝑜𝑠2𝜃  
#9c 𝑐𝑜𝑠2𝜃 = 1 − 𝑠𝑖𝑛2 𝜃 
 
#10a 1 + 𝑡𝑎𝑛2 𝜃 = 𝑠𝑒𝑐2𝜃 
#10b 𝑡𝑎𝑛2 𝜃 = 𝑠𝑒𝑐2𝜃 − 1 
#10c 1 = 𝑠𝑒𝑐2𝜃 − 𝑡𝑎𝑛2 𝜃 
 
#11a 1 + 𝑐𝑜𝑡2 𝜃 = 𝑐𝑠𝑐2𝜃 
#11b 𝑐𝑜𝑡2 𝜃 = 𝑐𝑠𝑐2𝜃 − 1 
#11c 1 = 𝑐𝑠𝑐2𝜃 − 𝑐𝑜𝑡2 𝜃 
 
 

Keep Switch Flip 
 

KSF 
𝐴

𝐵
𝐶

𝐷

 Rewrite:  
𝐴

𝐵
÷

𝐶

𝐷
=

𝐴

𝐵
×

𝐷

𝐶
  

 
 
 
 
 
 
 
 



 
 
 
 
 


